
M at h Com poser  1. 1. 5
ht t p: / / www. m at hcom poser . com

www.tomsmath.com

Convert r=csc() to rectangular form. 

1) Rewrite csc() as shown:                                             r= 1
sin()

2) Multiply both sides by sin() and simplify              (sin())r = 1
sin()
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3) The conversion between polar and rectangular coordinates states that y=rsin().
     This means you should replace the left side with y. 

     rsin()=1
     
      

     y=1

5) This tells us that we have a horizontal line passing through y=1. This is shown below.                 
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